BASE	BID ITEMS: Medina Street Bridge Replacement			Engineer'	's Estimate	D2 Excav	ating LLC	Denes Co	ncrete, Inc.	Fabrizi	Trucking	Matt Winters	s Excavating	Tri Mo	r Corp	Grassba	augh LLC
ITEM NO	DESCRIPTION	QTY	UNIT	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL
	VATION & REMOVAL ITEMS	QII	UNII	0031	IOIAL	0031	TOTAL	0031	IOIAL	0031	IOIAL	0031	IOIAL	6031	TOTAL	0031	IOIAL
XUA	VATION & REMOVAL HEMS																
1	Clearing and Grubbing	1	Lump Sum	\$12,000.00	\$12,000.00	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00	\$10,500.00	\$10,500.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$17,256.84	\$17,256.84
2a	Structure Removed (existing CMP arch culvert, stone headwalls and foundations), as per plan	1	Lump Sum	\$25,000.00	\$25,000.00	\$18,820.00	\$18,820.00	\$28,000.00	\$28,000.00	\$47,080.00	\$47,080.00	\$30,000.00	\$30,000.00	\$20,000.00	\$20,000.00	\$21,576.43	\$21,576.43
2b	Structure Removed (existing half headwall for 72" RCP storm sewer), as per plan	1	Lump Sum	\$1,500.00	\$1,500.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$1,500.00	\$1,500.00	\$6,900.00	\$6,900.00	\$4,200.00	\$4,200.00	\$4,315.29	\$4,315.29
3	Pavement Removal, 6" to 12" Concrete or Asphalt, including sawcutting and curb removal (street)	550	Square Yard	\$16.00	\$8,800.00	\$7.00	\$3,850.00	\$15.00	\$8,250.00	\$21.00	\$11,550.00	\$18.00	\$9,900.00	\$20.00	\$11,000.00	\$15.69	\$8,629.50
4a	Pipe Removed, 24 inch and under, replaced with type 304 aggregate to subgrade elevations, as per plan	190	Lineal Feet	\$32.00	\$6,080.00	\$45.00	\$8,550.00	\$40.00	\$7,600.00	\$15.00	\$2,850.00	\$90.00	\$17,100.00	\$75.00	\$14,250.00	\$37.92	\$7,204.80
4b	Pipe Removed, 72" RCP, not including excavation or backfill	10	Lineal Feet	\$100.00	\$1,000.00	\$300.00	\$3,000.00	\$40.00	\$400.00	\$1,500.00	\$15,000.00	\$300.00	\$3,000.00	\$15.00	\$150.00	\$720.56	\$7,205.60
5a	Excavation of Subgrade, not including embankment, including removal and disposal of excess material off site	71	Cubic Yard	\$35.00	\$2,485.00	\$20.00	\$1,420.00	\$55.00	\$3,905.00	\$24.00	\$1,704.00	\$40.00	\$2,840.00	\$23.00	\$1,633.00	\$102.02	\$7,243.42
5b	Excavation of Unsuitable Subgrade Material	10	Cubic Yard	\$40.00	\$400.00	\$100.00	\$1,000.00	\$65.00	\$650.00	\$30.00	\$300.00	\$35.00	\$350.00	\$42.00	\$420.00	\$158.85	\$1,588.50
6	Granular Embankment, Type B for replacement of unsuitable pavement base material, not including excavation	10	Cubic Yard	\$75.00	\$750.00	\$100.00	\$1,000.00	\$150.00	\$1,500.00	\$70.00	\$700.00	\$140.00	\$1,400.00	\$80.00	\$800.00	\$109.41	\$1,094.10
	SUBTOTAL, EXCAVATION & REMOVAL	. (Items #'s	1 though 6):		\$58,015.00		\$52,640.00		\$65,305.00		\$91,184.00		\$86,490.00		\$67,453.00		\$76,114. <sub>4</sub>
	·					-		· · · · · · · · · · · · · · · · · · ·		-		-					
EROS	ION CONTROL	I		1					1		I		1				1
7	Topsoil, furnished and placed	80	Cubic Yard	\$60.00	\$4,800.00	\$50.00	\$4,000.00	\$55.00	\$4,400.00	\$62.00	\$4,960.00	\$100.00	\$8,000.00	\$50.00	\$4,000.00	\$71.85	\$5,748.00
8a	Seeding and Mulching, as per plan	700	Square Yard	\$3.00	\$2,100.00	\$10.00	\$7,000.00	\$3.50	\$2,450.00	\$2.50	\$1,750.00	\$5.00	\$3,500.00	\$6.00	\$4,200.00	\$7.62	\$5,334.00

Manhole, Miscellaneous: Standard One Hundred Twenty (120) inch 14a Reinforced Precast Concrete Manhole, complete in place, as per plan

Manhole, Miscellaneous: Standard Forty Eight (48) inch Reinforced
14b Precast Concrete Inlet Manhole, complete in place, as per plan

14c and submittals), complete in place, as per plan

Headwall, Miscellaneous: Custom Concrete Headwall (including design

\$30,786.13

\$7,440.42

\$7,440.56

\$30,786.13

\$7,440.42

\$7,440.56

		I	T				1									
BASE BID ITEMS: Medina Street Bridge Replacement			Engineer's	s Estimate	D2 Excav	ating LLC	Denes Co	ncrete, Inc.	Fabrizi <sup>-</sup>	Trucking	Matt Winters	Excavating	Tri Mo	or Corp	Grassba	ugh LLC
ITEM			UNIT	ITEM	UNIT	ITEM	UNIT	ITEM	UNIT	ITEM	UNIT	ITEM	UNIT	ITEM	UNIT	ITEM
NO DESCRIPTION	QTY	UNIT	COST	TOTAL	COST	TOTAL	COST	TOTAL	COST	TOTAL	COST	TOTAL	COST	TOTAL	COST	TOTAL
EROSION CONTROL (Continued)																
		Square														
8b Repair Seeding and Mulching	100	Yard	\$5.00	\$500.00	\$20.00	\$2,000.00	\$4.50	\$450.00	\$1.00	\$100.00	\$2.00	\$200.00	\$3.00	\$300.00	\$2.19	\$219.00
		Square														
8c Inter-Seeding	100	Yard	\$5.00	\$500.00	\$15.00	\$1,500.00	\$4.50	\$450.00	\$1.00	\$100.00	\$0.50	\$50.00	\$3.00	\$300.00	\$0.16	\$16.00
9 Commercial Fertilizer	0.20	Tons	\$2,000.00	\$400.00	\$2,500.00	\$500.00	\$500.00	\$100.00	\$800.00	\$160.00	\$710.00	\$142.00	\$3,500.00	\$700.00	\$362.05	\$72.41
10 Water	4.00	Mgal	\$300.00	\$1,200.00	\$100.00	\$400.00	\$75.00	\$300.00	\$25.00	\$100.00	\$1.00	\$4.00	\$225.00	\$900.00	\$1.00	\$4.00
11a Storm Water Pollution Prevention Plan	1	Lump Sum	\$3,000.00	\$3,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00	\$3,000.00	\$3,000.00	\$2,875.00	\$2,875.00
11b Erosion Control, as per plan	3,000	Each	\$1.00	\$3,000.00	\$1.00	\$3,000.00	\$1.00	\$3,000.00	\$1.00	\$3,000.00	\$1.00	\$3,000.00	\$1.00	\$3,000.00	\$1.00	\$3,000.00
SUBTOTAL, EROSION CONTROL (Ite	ems #'s 7 th	rough 11b):		\$15,500.00		\$28,400.00		\$21,150.00		\$11,670.00		\$17,396.00		\$16,400.00		\$17,268.41
DRAINAGE																
Four (4) Inch Base Pipe Underdrains with Geotextile Fabric, complete as		Lineal														
12 per plan	206	Feet	\$17.00	\$3,502.00	\$30.00	\$6,180.00	\$9.00	\$1,854.00	\$18.00	\$3,708.00	\$38.00	\$7,828.00	\$15.00	\$3,090.00	\$16.70	\$3,440.20
		Lineal														
13a Storm Sewer, Twenty Four (24) inch Conduit, Type C, 707.33	55	Feet	\$120.00	\$6,600.00	\$120.00	\$6,600.00	\$65.00	\$3,575.00	\$149.00	\$8,195.00	\$120.00	\$6,600.00	\$125.00	\$6,875.00	\$144.25	\$7,933.75
		Lineal														
13b Storm Sewer, Twenty Four (24) inch Conduit, Type B, 707.33	66	Feet	\$175.00	\$11,550.00	\$120.00	\$7,920.00	\$65.00	\$4,290.00	\$165.00	\$10,890.00	\$115.00	\$7,590.00	\$155.00	\$10,230.00	\$177.23	\$11,697.18
	_	Lineal	_	_			_			_		_		_		
13c Storm Sewer, Seventy Two (72) inch Conduit, Type C, 706.02	8	Feet	\$625.00	\$5,000.00	\$1,700.00	\$13,600.00	\$585.00	\$4,680.00	\$920.00	\$7,360.00	\$1,400.00	\$11,200.00	\$900.00	\$7,200.00	\$1,560.17	\$12,481.36

\$16,000.00

\$5,000.00

\$22,000.00

\$17,000.00

\$3,800.00

\$20,000.00

\$17,000.00

\$3,800.00

\$20,000.00

\$23,100.00

\$4,940.00

\$16,500.00

\$23,100.00

\$4,940.00

\$16,500.00

\$25,000.00

\$8,500.00

\$26,000.00

\$25,000.00

\$8,500.00

\$26,000.00

\$25,000.00

\$5,000.00

\$27,000.00

\$25,000.00

\$5,000.00

\$27,000.00

\$15,000.00

\$4,000.00

\$15,000.00

\$16,000.00

\$5,000.00

\$22,000.00

Each

Each

\$15,000.00

\$4,000.00

Lump Sum \$15,000.00

	BID ITEMS: Medina Street Bridge Replacement				s Estimate		ating LLC		ncrete, Inc.		Trucking		s Excavating		or Corp		augh LLC
ITEM NO	DESCRIPTION	QTY	UNIT	UNIT COST	ITEM TOTAL												
	AGE (Continued)	<u> </u>	Oiti	0001	IOIAL	0001	IVIAL	0001	IVIAL	0001	IVIAL	0001	IVIAL	0001	IOIAL	0001	IOIAL
Divilly	TOD (DOTTINGOR)																
	SUBTOTAL, DRAINAGE (Iten	ns #'s 12 thr	rough 14c):		\$60,652.00		\$77,300.00		\$55,199.00		\$74,693.00		\$92,718.00		\$84,395.00		\$81,219.60
										1				1		1	
WATER	RWORK		1						T				1		T		1
	Eight (8) inch Ductile Iron Class 52 Water Main within pavement areas with Polyethylene Encasement, (including bedding and cover material, including trenching and furnishing and installing backfill, premium backfill where required)	21	Lineal Feet	\$190.00	\$3,990.00	\$250.00	\$5,250.00	\$220.00	\$4,620.00	\$233.00	\$4,893.00	\$450.00	\$9,450.00	\$245.00	\$5,145.00	\$448.17	\$9,411.57
15b	Eight (8) inch Ductile Iron Class 52 Water Main within outside of pavement areas with Polyethylene Encasement, (including bedding and cover material, including trenching and furnishing and installing backfill, premium backfill where required)	86	Lineal Feet	\$175.00	\$15,050.00	\$250.00	\$21,500.00	\$215.00	\$18,490.00	\$233.00	\$20,038.00	\$230.00	\$19,780.00	\$165.00	\$14,190.00	\$155.36	\$13,360.96
	Eight (8) inch Ductile Iron Class 52 Water Main within Steel Encasement Pipe (including trenching, bedding and cover material, steel encasement pipe and carrier pipe, straps, blocking, fill sand, air vents and bulkheads), complete in place as per plan	28	Lineal Feet	\$350.00	\$9,800.00	\$250.00	\$7,000.00	\$310.00	\$8,680.00	\$412.00	\$11,536.00	\$600.00	\$16,800.00	\$545.00	\$15,260.00	\$1,491.41	\$41,759.48
16	Eight (8) Inch - Various Bends, complete in place	8	Each	\$800.00	\$6,400.00	\$200.00	\$1,600.00	\$615.00	\$4,920.00	\$515.00	\$4,120.00	\$800.00	\$6,400.00	\$1,500.00	\$12,000.00	\$1,410.19	\$11,281.52
17	Eight (8) Inch Line Valve with Valve Box and Anchor Coupling, complete in place	2	Each	\$2,600.00	\$5,200.00	\$4,000.00	\$8,000.00	\$3,700.00	\$7,400.00	\$2,000.00	\$4,000.00	\$4,000.00	\$8,000.00	\$8,000.00	\$16,000.00	\$3,636.32	\$7,272.64
	Water Service Connection, "Short Connection", 1 Inch Tap, complete in place, including transfer of service from existing line to existing eight (8) inch water main, supply and installation of curb stop and box, trenching and furnishing and installing premium backfill, supply and installation of corporation valve, complete in place as per plan.	1_	Each	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00	\$3,900.00	\$3,900.00	\$1,750.00	\$1,750.00	\$5,500.00	\$5,500.00	\$4,400.00	\$4,400.00	\$3,288.74	\$3,288.74
19	Two (2) Inch Temporary Flushing Assembly, complete in place per plan detail	1	Each	\$2,000.00	\$2,000.00	\$250.00	\$250.00	\$2,700.00	\$2,700.00	\$1,750.00	\$1,750.00	\$5,000.00	\$5,000.00	\$4,500.00	\$4,500.00	\$9,770.58	\$9,770.58
	SUBTOTAL, WATER WORK (Iten			\$44,940.00	,,	\$44,600.00	. ,	\$50,710.00	. ,	\$48,087.00	7-7	\$70,930.00	, ,	\$71,495.00		\$96,145.49	

BASE BID ITEMS: Medina Street Bridge Replacement			J	s Estimate		ating LLC	Denes Co	,		Trucking		s Excavating		or Corp		ugh LLC
ITEM DESCRIPTION	QTY	UNIT	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL
UTILITY WORK	Q.I.	j Olili	0001	TOTAL	0001	TOTAL	0001	TOTAL	0001	TOTAL	- 0001	TOTAL	0001	TOTAL	0001	IOIAL
Trenching, Including Sand Backfill (for Columbia Gas (CG) conduit, CG will		Lineal														
20 provide and install conduit) complete in place, as per plan	74	Feet	\$70.00	\$5,180.00	\$50.00	\$3,700.00	\$95.00	\$7,030.00	\$35.00	\$2,590.00	\$82.00	\$6,068.00	\$30.00	\$2,220.00	\$127.83	\$9,459.42
SUBTOTAL, UTIL	ITY WORK	(Items #20):		\$5,180.00		\$3,700.00		\$7,030.00		\$2,590.00		\$6,068.00		\$2,220.00		\$9,459.42
PAVEMENT																
		Square														
21 Subgrade Compaction	593	Yard	\$3.00	\$1,779.00	\$4.00	\$2,372.00	\$2.00	\$1,186.00	\$3.00	\$1,779.00	\$7.00	\$4,151.00	\$2.00	\$1,186.00	\$4.08	\$2,419.44
Aggregate Base (includes furnishing and placing aggregate for both roadway and driveways, not including compaction)	75	Cubic Yard	\$65.00	\$4,875.00	\$75.00	\$5,625.00	\$120.00	\$9,000.00	\$74.00	\$5,550.00	\$125.00	\$9,375.00	\$80.00	\$6,000.00	\$110.99	\$8,324.25
Fiber Reinforced Concrete Pavement, Type QCMS (8-Inch for driveways), 23a complete per City of Medina details	230	Square Yard	\$100.00	\$23,000.00	\$90.00	\$20,700.00	\$86.00	\$19,780.00	\$98.00	\$22,540.00	\$145.00	\$33,350.00	\$95.00	\$21.850.00	\$148.00	\$34.040.00
Fiber Reinforced Concrete Pavement, Type QC1 (8-Inch for roadway with		Square			***************************************		,		,	•	,		, , , , , , , , , , , , , , , , , , , ,	, ,	,	, , , , , , , , , , , , , , , , , , , ,
23b integral type 2A curb), complete per City of Medina details	341	Yard	\$105.00	\$35,805.00	\$95.00	\$32,395.00	\$90.00	\$30,690.00	\$121.00	\$41,261.00	\$150.00	\$51,150.00	\$95.00	\$32,395.00	\$148.00	\$50,468.00
24a Asphalt Concrete Surface Course, Type 1, (448), PG64-22	1	Cubic Yard	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$2,500.00	\$2,500.00	\$800.00	\$800.00	\$4,500.00	\$4,500.00	\$4,000.00	\$4,000.00
24b Asphalt Concrete Intermediate Course, Type 1, (448), PG64-22	2	Cubic Yard	\$1,200.00	\$2,400.00	\$1,000.00	\$2,000.00	\$1,100.00	\$2,200.00	\$1,200.00	\$2,400.00	\$600.00	\$1,200.00	\$2,500.00	\$5,000.00	\$2,000.00	\$4,000.00
SUBTOTAL, PAVEMENT (Iter	ns #'s 21 th	rough 24b):		\$69,359.00		\$64,092.00		\$63,856.00		\$76,030.00		\$100,026.00		\$70,931.00		\$103,251.69
		· · · · · · · · · · · · · · · · · · ·		****		***************************************		400,000		**********		******		<b>4.0,00</b>		*****
MAINTENANCE OF TRAFFIC	1	, ,														
25a Maintaining Traffic (providing local access)	1	Lump Sum	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00	\$3,500.00	\$3,500.00	\$2,500.00	\$2,500.00	\$3,500.00	\$3,500.00	\$10,000.00	\$10,000.00	\$2,850.00	\$2,850.00
25b Detour Signing, as per plan	1	Lump Sum	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$5,000.00	\$5,000.00	\$8,800.00	\$8,800.00	\$7,500.00	\$7,500.00

October 8, 2025

BASE	BID ITEMS: Medina Street Bridge Replacement			Engineer's	s Estimate	D2 Excav	ating LLC	Denes Cor	ncrete, Inc.	Fabrizi 1	rucking	Matt Winters	Excavating	Tri Mo	r Corp	Grassba	ugh LLC
ITEM				UNIT	ITEM	UNIT	ITEM	UNIT	ITEM	UNIT	ITEM	UNIT	ITEM	UNIT	ITEM	UNIT	ITEM
NO	DESCRIPTION	QTY	UNIT	COST	TOTAL	COST	TOTAL	COST	TOTAL	COST	TOTAL	COST	TOTAL	COST	TOTAL	COST	TOTAL
MAINT	ENANCE OF TRAFFIC (Continued)																
26	Railroad Symbol Marking (epoxy on concrete)	1	Each	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$3,500.00	\$3,500.00	\$3,100.00	\$3,100.00	\$1,700.00	\$1,700.00	\$3,000.00	\$3,000.00	\$1,620.00	\$1,620.00
												•					
	SUBTOTAL, MAINTENANCE OF TRAFFIC (Itel		\$9,000.00		\$11,500.00		\$14,500.00		\$13,100.00		\$10,200.00		\$21,800.00		\$11,970.00		

STRUC	TRUCTURE (Culvert)																
27	Cofferdams and Excavation Bracing, as per plan	1	Lump Sum	\$20,000.00	\$20,000.00	\$4,000.00	\$4,000.00	\$8,000.00	\$8,000.00	\$30,000.00	\$30,000.00	\$10,500.00	\$10,500.00	\$40,000.00	\$40,000.00	\$24,423.86	\$24,423.86
28	Unclassified Excavation, including rock excavation per geotechnical report	1	Lump Sum	\$25,000.00	\$25,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$12,500.00	\$12,500.00	\$6,500.00	\$6,500.00	\$24,000.00	\$24,000.00	\$14,809.94	\$14,809.94
29	Epoxy Coated Reinforcing Steel	6,110	Pounds	\$3.00	\$18,330.00	\$3.00	\$18,330.00	\$2.00	\$12,220.00	\$2.45	\$14,969.50	\$2.80	\$17,108.00	\$3.00	\$18,330.00	\$2.69	\$16,435.90
30a	QC1 Concrete, Retaining/Wing Wall, complete NOT including footing, as per plan	20	Cubic Yard	\$1,100.00	\$22,000.00	\$925.00	\$18,500.00	\$900.00	\$18,000.00	\$1,125.00	\$22,500.00	\$1,000.00	\$20,000.00	\$1,800.00	\$36,000.00	\$1,275.40	\$25,508.00
30b	QC1 Concrete, Retaining/Wing Wall, Footings, as per plan	54	Cubic Yard	\$600.00	\$32,400.00	\$850.00	\$45,900.00	\$800.00	\$43,200.00	\$450.00	\$24,300.00	\$550.00	\$29,700.00	\$550.00	\$29,700.00	\$557.45	\$30,102.30
31	Sealing of Concrete Surfaces (Epoxy-Urethane), as per plan	85	Square Yard	\$40.00	\$3,400.00	\$40.00	\$3,400.00	\$30.00	\$2,550.00	\$48.00	\$4,080.00	\$76.00	\$6,460.00	\$50.00	\$4,250.00	\$60.00	\$5,100.00
	Type 2 Waterproofing, as per plan	84	Square Yard	\$35.00	\$2,940.00	\$20.00	\$1,680.00	\$35.00	\$2,940.00	\$40.00	\$3,360.00	\$38.00	\$3,192.00	\$35.00	\$2,940.00	\$35.50	\$2,982.00
	Type 3 Waterproofing, as per plan	147	Square Yard	\$46.00	\$6,762.00	\$20.00	\$2,940.00	\$40.00	\$5,880.00	\$82.00	\$12,054.00	\$35.00	\$5,145.00	\$45.00	\$6,615.00	\$45.00	\$6,615.00
33	Preformed Expansion Joint Filler, One (1) inch wide	40	Square Foot	\$15.00	\$600.00	\$20.00	\$800.00	\$12.00	\$480.00	\$9.00	\$360.00	\$15.00	\$600.00	\$10.00	\$400.00	\$1.00	\$40.00
		40							·	,				,	·	,	
34	Standard Hand Railing, as per plan	1	Lump Sum Cubic	\$40,000.00	\$40,000.00	\$12,000.00	\$12,000.00	\$44,137.00	\$44,137.00	\$41,000.00	\$41,000.00	\$39,000.00	\$39,000.00	\$51,500.00	\$51,500.00	\$37,711.83	\$37,711.83
35	Porous Backfill with Geotextile Fabric	30	Yard	\$125.00	\$3,750.00	\$75.00	\$2,250.00	\$112.50	\$3,375.00	\$65.00	\$1,950.00	\$150.00	\$4,500.00	\$175.00	\$5,250.00	\$167.42	\$5,022.60

BASE	BID ITEMS: Medina Street Bridge Replacement			Engineer	s Estimate	D2 Excav	vating LLC	Denes Co	ncrete, Inc.	Fabrizi	Trucking	Matt Winters	s Excavating	Tri Mo	or Corp	Grassba	augh LLC
ITEM				UNIT	ITEM	UNIT	ITEM	UNIT	ITEM	UNIT	ITEM	UNIT	ITEM	UNIT	ITEM	UNIT	ITEM
NO	DESCRIPTION	QTY	UNIT	COST	TOTAL	COST	TOTAL	COST	TOTAL	COST	TOTAL	COST	TOTAL	COST	TOTAL	COST	TOTAL
STRUC	CTURE (Culvert Continued)																
			Cubic														
36	Rock Channel Protection, Type B with Filter	144	Yard	\$175.00	\$25,200.00	\$40.00	\$5,760.00	\$150.00	\$21,600.00	\$135.00	\$19,440.00	\$225.00	\$32,400.00	\$260.00	\$37,440.00	\$152.28	\$21,928.32
0.7	Conduit, Type A, Precast Reinforced Concrete Box Culvert, 706.05, (20'-0"	5.4	Lineal	<b>#</b> 0.000.00	*400.000.00	<b>#0.000.00</b>	#400 000 00	<b>#0.444.04</b>	040400074	********	<b>#450.000.00</b>	<b>*</b> 0.500.00	#40F 000 00	<b>#0.400.00</b>	<b>#</b> 400 000 00	#0.000.00	<b>** ** ** ** ** ** ** **</b>
37	Span x 5-0" Rise) as per plan	54	Foot	\$3,000.00	\$162,000.00	\$2,290.00	\$123,660.00	\$3,414.81	\$184,399.74	\$2,900.00	\$156,600.00	\$2,500.00	\$135,000.00	\$2,400.00	\$129,600.00	\$2,600.00	\$140,400.00
	CURTOTAL CTRUCTURE (C.ub.comb) (let	SUBTOTAL, STRUCTURE (Culvert) (Items #'s 27 throu					¢254 220 00		\$264.704.74		¢242 442 50		¢240.40E.00		#20C 02E 00		6224 070 7E
	SUBTOTAL, STRUCTURE (Cuivert) (Ite	nrougn 37):		\$362,382.00		\$254,220.00		\$361,781.74		\$343,113.50		\$310,105.00		\$386,025.00		\$331,079.75	
														1		1	
INCIDE	ENTALS																
38	Mobilization	1	Lump Sum	\$17,000.00	\$17,000.00	\$30,000.00	\$30,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$20,000.00	\$20,000.00	\$25,000.00	\$25,000.00	\$35,000.00	\$35,000.00
39	Pre-Construction Video	1	Lump Sum	\$1,300.00	\$1,300.00	\$1,498.00	\$1,498.00	\$1,200.00	\$1,200.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$1,500.00	\$1,500.00	\$750.00	\$750.00
40	Construction Layout Stakes and Surveying	1	Lump Sum	\$5,200.00	\$5,200.00	\$6,000.00	\$6,000.00	\$4,000.00	\$4,000.00	\$6,500.00	\$6,500.00	\$2,900.00	\$2,900.00	\$15,000.00	\$15,000.00	\$12,000.00	\$12,000.00
41	Premium for Contract Performance Bond and Maintenance Bond	1	Lump Sum	\$6,600.00	\$6,600.00	\$5,000.00	\$5,000.00	\$8,000.00	\$8,000.00	\$2,500.00	\$2,500.00	\$11,652.00	\$11,652.00	\$7,500.00	\$7,500.00	\$9,500.00	\$9,500.00
	SUBTOTAL, INCIDENTALS (Ite	SUBTOTAL, INCIDENTALS (Items #'s 38 thr					\$42,498.00		\$18,200.00		\$15,000.00		\$35,052.00		\$49,000.00		\$57,250.00

ADD AL	LTERNATE #1 BID: Medina Street Bridge Replacement		Engineer's	s Estimate	D2 Excav	ating LLC	Denes Co	ncrete, Inc.	Fabrizi 1	Trucking	Matt Winters	Excavating	Tri Mo	or Corp	Grassba	augh LLC
ITEM			UNIT	ITEM	UNIT	ITEM	UNIT	ITEM	UNIT	ITEM	UNIT	ITEM	UNIT	ITEM	UNIT	ITEM
NO	DESCRIPTION QTY	UNIT	COST	TOTAL	COST	TOTAL	COST	TOTAL	COST	TOTAL	COST	TOTAL	COST	TOTAL	COST	TOTAL
ADD AL	LTERNATE #1 BID: DECORATIVE RAILING															
A1-34	Decorative Hand Railing, as per plan 1	Lump Sum	\$50,000.00	\$50,000.00	\$7,000.00	\$7,000.00	\$78,400.00	\$78,400.00	\$71,145.00	\$71,145.00	\$68,000.00	\$68,000.00	\$98,500.00	\$98,500.00	\$75,847.13	\$75,847.13
	·							•								
	SUBTOTAL, ADD ALTERNATE #1 BID (It	em #A1-34):		\$50,000.00		\$7,000.00		\$78,400.00		\$71,145.00		\$68,000.00		\$98,500.00		\$75,847.13

SUMMARY - BASE BID	Engineer's Estimate	D2 Excavating LLC	Denes Concrete, Inc.	Fabrizi Trucking	Matt Winters Excavating	Tri Mor Corp	Tri Mor Corp
SUBTOTAL, EXCAVATION AND REMOVAL ITEMS (Item #1 through #6):	\$58,015.00	\$52,640.00	\$65,305.00	\$91,184.00	\$86,490.00	\$67,453.00	\$76,114.48
SUBTOTAL, EROSION CONTROL (Items #7 through #11b):	\$15,500.00	\$28,400.00	\$21,150.00	\$11,670.00	\$17,396.00	\$16,400.00	\$17,268.41
SUBTOTAL, DRAINAGE (Items #12 through #14c):	\$60,652.00	\$77,300.00	\$55,199.00	\$74,693.00	\$92,718.00	\$84,395.00	\$81,219.60
SUBTOTAL, WATER WORK (Items #15athrough #19):	\$44,940.00	\$44,600.00	\$50,710.00	\$48,087.00	\$70,930.00	\$71,495.00	\$96,145.49
SUBTOTAL, UTILITY WORK (Item #20):	\$5,180.00	\$3,700.00	\$7,030.00	\$2,590.00	\$6,068.00	\$2,220.00	\$9,459.42
SUBTOTAL, PAVEMENT (Item #21 through #24b):	\$69,359.00	\$64,092.00	\$63,856.00	\$76,030.00	\$100,026.00	\$70,931.00	\$103,251.69
SUBTOTAL, MAINTENANCE OF TRAFFIC (Item #25a through #26):	\$9,000.00	\$11,500.00	\$14,500.00	\$13,100.00	\$10,200.00	\$21,800.00	\$11,970.00
SUBTOTAL, STRUCTURE (Culvert) (Item #27 through #37):	\$362,382.00	\$254,220.00	\$361,781.74	\$343,113.50	\$310,105.00	\$386,025.00	\$331,079.75
SUBTOTAL, INCIDENTIALS (Item #38 through #41):	\$30,100.00	\$42,498.00	\$18,200.00	\$15,000.00	\$35,052.00	\$49,000.00	\$57,250.00
GRAND TOTAL, BASE BID (Items #1 through #41):	\$655,128.00	\$578,950.00	\$657,731.74	\$675,467.50	\$728,985.00	\$769,719.00	\$783,758.84

		COMPLETED BID SI	JMMARY				
	Engineer's Estimate	D2 Excavating LLC	Denes Concrete, Inc.	Fabrizi Trucking	Matt Winters Excavating	Tri Mor Corp	Grassbaugh LLC
GRAND TOTAL, BASE BID ACTU			\$657,731.74				\$783,758.84
AS RE		\$577,000.00	\$657,731.74				\$783,758.84
GRAND TOTAL, ADD ALTERNATE #1 ACTU		\$7,000.00	\$78,400.00	\$71,145.00		\$98,500.00	\$75,847.13
AS RE	AD	\$7,000.00	\$78,400.00	\$71,145.00	\$68,000.00	\$98,500.00	\$859,605.97
BASE BID AS % OF ENGINEER'S ESTIMA	TE: N/A	88.37%	100.40%	103.10%	111.27%	117.49%	119.63%
Final Completion [	ate: July 15, 2026	June 12, 2026	July 15, 2026	None Provided	April 17, 2026	July 15, 2026	June 30, 2026
Non-Collusion Agreen		Yes	Yes	Yes	Yes	Yes	Yes
OPWC Form V	ork: N/A	Yes	Yes	Yes	Yes	Yes	Yes
Bid Info & I	xp.: N/A	Yes	Yes	Yes	Yes	Yes	Yes
Bid B	ond: N/A	100%	100%	100%	10%	100%	10%